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SECTION A [36 Marks]

QUESTION 1

(Write down the letter corresponding to the best option for each question in the answer
booklet/sheet provided)

1.1 The factors for the expression —xyz + xpy — zp + z> are? [3]

A(xy+z)p—-2z) B (xy-2)(pt+z) CEz-xy)p+z) D.(xy-2)(p-2)

1.2 The lowest common multiple (LCM) for 20, 280 and 220 is? [3]
A. 1540 B. 6160 C.770 D. 3080

1.3 From the Venn diagram below, describe the shaded area ? [3]

A.AUBUC B.ANBNnC C.AnB)-C D.(AUB)NnC

1.4 The solution to the equation 5x — 7 + x = 4x + 25 is? [3]
A.x=5 B.x=3 C.x=15 D.x =16

1.5 Expand and simplify the expression 4ab? + (2ab — b)? ? [3]

A.4a’b? + 8ab? + b%> B.4a%b% + b?*> C.4ab? + 4a?b? + b* D. 4ab + b?

1.6 Find the value of x in the following ratio x: 15 if the ration simplify to 4: 37 [3]

A -1 B.1 C. 30 D. 20

1.7 By solving the inequality 3(a — 6) < 4 + a the answer will be? [3]

A.a<9 B.a< 12 Ca<13 D.a<11



1.8 A jean costs N$175.00 before VAT is added on it. A customer pays NS 194.25, VAT

inclusive for the jean, what percentage of VAT has been added to the jean’s

price? [3]
A. 6% B. 11% C. 90% D. 4%
1
1.9 Simplify xz\/}_z X [x* X y2 [3]
1 1 3
A yvx B. xy2 C. xy+ D. x*ys
1.10 Evaluate log, 16 + logz 27 + log1 [3]
A 4 B.3 C.7 D.8
1.11 The simultaneous solution to the equations 2x —y =5and x +y =41is? [3]

Ax=2andy=3B.x=3andy=0C.x=0andy=1D.x=3andy=1

1.12 If Ais ann X n matrix and the determinant of A is non zero,then AA™%, is? [3]

A.l B. A% C.A

SECTION B [66 Marks]

QUESTION 2 (Clearly show all your work)

2.1 Find the values of the letters in the given matrix equation:
X I\(2 =1\_ /2 2
P q) (—3 0 ) a (—1 —1)

2.2 Find the sum of the series3+5+7 4 -+ 119

2.3 Inthe progression 2; 6; 18; 54 ... find the 12t term?

2.4 Find the summation of ¥:3_s(a? — a)

D.A71

(5]

(6]

[4]

[4]



2.5 Calculate the maturity of an investment of NS 680 000 due in 7 years when the annual

simple interest rate is 9.5% [3]

2.6 Determine the compound amount if NS50 000 is invested for 15 years at 4.5% per

annum compounded quarterly? [5]
2.7 Use Cramer’s rule to solve the following equation? [4]
3x+4y =7
x—5y=-4

QUESTION 3(33 MARKS)

3.1 In a group of students, 65 play football, 45 play hockey, 42 play cricket, 20 play football
and hockey, 25 play football and cricket, 15 play hockey and cricket, 8 play all the three
games. Let F, H and C represent the set of students who play football, hockey and cricket

respectively.

i) Draw a Venn diagram to represent the above information? (4]
ii) Find the number of students who play both football only [2]
iii) Find the number of students who play both hockey and cricket only [2]
iv) Find the number of students who play hockey only [2]
v) Find the number of students who play both football and hockey only [2]

3.2 Solve the following equation and inequality?

3.2.1 2y X =5 (Use quadratic formula) (8]

X x=1

322 x+11>3x+1 (4]



3.3 Evaluate the following

3:54 3 4x2 [4]
3 _1

332 2—2 [4]
03
7 3

B33 o= [1]
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